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N1 (x+a)(x+b)=x*+ (a+b)x+ab B2 (x+a)i=x*+2ax+ a?
AR 3 (x—a)i=x*—2ax+a? N4 (x+a)(x—a) =x*—d°
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(3x+4) (3x+5) (2x +4y)?
= (3x)%+ (4+5) x3x+4 x5 = (2x) %+ 2 X 4y X 2x + (4y)*?
=Ox?+ 27x + 20 =4x*+ 16xy + 16y°
(5x—3y)? (4x +3y) (4x—3y)
= (5x)?= 2% 3y x5x+ (3y)* = (4x)*— (3y)*
\_ = 25x* — 30xy + 9y* =16x*— 9”
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105 % 95 98°
= (100+5) (100—5) = (100—-2)?
=100°-5° =100°—2%x2x100 + 2
=10000- 25 =10000—-400+4
=9975 =9604
102? 97 x 102
= (100+2)? = (100-3) (100 +2)
=100*+2%2x100 + 2? =100+ { (—-3) +2} x100+ (—3) x2
=10000+400+4 =10000—-100-6
=10404 =90894
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